## **BUDGET PRIORITIES 2011**

1. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 23000, Registrar's expense, Adopted 2010 budget \$2,000, Requested 2011 budget \$1,700.00	11.1% (1)	0.0% (0)	77.8% (7)	11.1% (1)	0.0% (0)	2.89	9			
				Commen	t:(limit 300 C	haracters)	1			
	answered question									
					skipped	question	0			

2. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 20500, Council on Racism, Adopted 2010 budget \$1,000, Requested 2011 budget (Blank)	44.4% (4)	22.2% (2)	11.1% (1)	11.1% (1)	11.1% (1)	2.22	9			
				Commen	t:(limit 300 C	haracters)	2			
		answered question								
					skipped	question	0			

3. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget lines 20600-20700, Department of Youth, Adopted 2010 budget \$87,825, Requested 2011 budget \$87,825	0.0% (0)	0.0% (0)	22.2% (2)	11.1% (1)	66.7% (6)	4.44	9			
				Commen	t:(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

4. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 20800, Childrens ministry, Adopted 2010 budget \$10,000, Requested 2011 budget \$27,000.00	0.0% (0)	0.0% (0)	22.2% (2)	22.2% (2)	55.6% (5)	4.33	9			
				Commen	t:(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

5. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line (none), Standing Committee, Adopted 2010 budget (blank), Requested 2011 budget \$5,000.00	11.1% (1)	22.2% (2)	33.3% (3)	33.3% (3)	0.0% (0)	2.89	9			
				Comment	::(limit 300 C	haracters)	1			
					answered	question	9			
					skipped	question	0			

6. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 20860, Adult Education Commission, Adopted 2010 budget \$0.00, Requested 2011 budget (blank)	55.6% (5)	11.1% (1)	22.2% (2)	0.0% (0)	11.1% (1)	2.00	9			
				Commen	t:(limit 300 C	haracters)	1			
		answered question								
					skipped	question	0			

7. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 20900, Stewardship Commission, Adopted 2010 budget \$500.00, Requested 2011 budget (blank)	22.2% (2)	11.1% (1)	33.3% (3)	33.3% (3)	0.0% (0)	2.78	9			
				Commen	t:(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

8. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 21000, Planned Giving Commission, Adopted 2010 budget \$3,200.00, Requested 2011 budget \$3,200.00.	0.0% (0)	11.1% (1)	66.7% (6)	22.2% (2)	0.0% (0)	3.11	9			
				Commen	::(limit 300 C	haracters)	0			
					answered	question	9			
					skipped	question	0			

9. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 21200, Tidings Subscriptions, Adopted 2010 budget \$40,000.00, Requested 2011 budget \$40,000.00.	11.1% (1)	22.2% (2)	33.3% (3)	11.1% (1)	22.2% (2)	3.11	9			
				Commen	t:(limit 300 C	haracters)	1			
		answered question								
					skipped	question	0			

10. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 21300, Tidings General, Adopted 2010 budget \$21,000.00, Requested 2011 budget \$17,000.00.	11.1% (1)	0.0% (0)	33.3% (3)	33.3% (3)	22.2% (2)	3.56	9			
				Commen	t:(limit 300 C	haracters)	1			
answered question										
					skipped	question	0			

11. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 21400, Public Relations, Adopted 2010 budget \$16,000.00, Requested 2011 budget \$15,000.00.	11.1% (1)	0.0% (0)	22.2% (2)	44.4% (4)	22.2% (2)	3.67	9			
				Commen	t:(limit 300 C	haracters)	1			
		answered question								
					skipped	question	0			

12. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 21450, Communications Program, Adopted 2010 budget \$5,000.00, Requested 2011 budget \$10,000.00.	0.0% (0)	0.0% (0)	22.2% (2)	44.4% (4)	33.3% (3)	4.11	9			
				Commen	t:(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

13. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 22800, Liturgy & Church Music, Adopted 2010 budget \$1,500.00, Requested 2011 budget \$1,500.00.	11.1% (1)	22.2% (2)	55.6% (5)	11.1% (1)	0.0% (0)	2.67	9			
				Comment	t:(limit 300 C	haracters)	1			
answered question							9			
					skipped	question	0			

14. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 22300, School of Christian Studies, Adopted 2010 budget \$14,990.00, Requested 2011 budget \$14,990.00.	0.0% (0)	0.0% (0)	55.6% (5)	0.0% (0)	44.4% (4)	3.89	9			
				Commen	t:(limit 300 C	haracters)	0			
					answered	question	9			
					skipped	question	0			

15. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget lines 16700-16800, Companion Diocese, Adopted 2010 budget \$15,300, Requested 2011 budget \$12,300	0.0% (0)	33.3% (3)	44.4% (4)	22.2% (2)	0.0% (0)	2.89	9			
				Comment	::(limit 300 C	haracters)	1			
					answered	question	9			
					skipped	question	0			

16. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 16801, World Mission, Adopted 2010 budget \$2,000.00, Requested 2011 budget (blank).	22.2% (2)	11.1% (1)	44.4% (4)	11.1% (1)	11.1% (1)	2.78	9			
				Commen	t:(limit 300 C	haracters)	0			
	answered question									
					skipped	question	0			

17. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget lines 16900-17000, EAM, Adopted 2010 budget \$0.00, Requested 2011 budget (blank).	55.6% (5)	11.1% (1)	33.3% (3)	0.0% (0)	0.0% (0)	1.78	9			
				Comment	t:(limit 300 C	haracters)	1			
		answered question								
					skipped	question	0			

18. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 17100, EAM Committee, Adopted 2010 budget \$0.00, Requested 2011 budget (blank).	55.6% (5)	22.2% (2)	22.2% (2)	0.0% (0)	0.0% (0)	1.67	9			
				Commen	::(limit 300 C	haracters)	1			
		answered question								
					skipped	question	0			

19. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 17050, Commision on HIV/AIDS, Adopted 2010 budget \$1,800.00, Requested 2011 budget \$2,100.	0.0% (0)	33.3% (3)	44.4% (4)	11.1% (1)	11.1% (1)	3.00	9			
				Commen	t:(limit 300 C	haracters)	1			
	answered question									
					skipped	question	0			

20. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 17200, Congregational operating grants, Adopted 2010 budget \$90,000.00, Requested 2011 budget \$130,000.	0.0% (0)	0.0% (0)	11.1% (1)	22.2% (2)	66.7% (6)	4.56	9			
				Commen	::(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

21. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 17300, New work grants, Adopted 2010 budget \$2,000.00, Requested 2011 budget \$0.00	0.0% (0)	22.2% (2)	33.3% (3)	11.1% (1)	33.3% (3)	3.56	9			
				Commen	t:(limit 300 C	haracters)	0			
	answered question									
					skipped	question	0			

22. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 17350, Project grants, Adopted 2010 budget \$20,000.00, Requested 2011 budget \$20,000.00	0.0% (0)	11.1% (1)	33.3% (3)	11.1% (1)	44.4% (4)	3.89	9			
				Commen	t:(limit 300 C	haracters)	0			
answered question										
					skipped	question	0			

23. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 17400, Transitional deacons/assists, Adopted 2010 budget \$30,000.00, Requested 2011 budget \$10,000.00	0.0% (0)	0.0% (0)	55.6% (5)	22.2% (2)	22.2% (2)	3.67	9			
				Commen	t:(limit 300 C	haracters)	1			
					answered	question	9			
					skipped	question	0			

24. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 17550, Deplopyment, Adopted 2010 budget (blank), Requested 2011 budget \$20,000.00	0.0% (0)	0.0% (0)	55.6% (5)	22.2% (2)	22.2% (2)	3.67	9			
				Commen	t:(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

25. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line (blank), St. Barnabas Center for Ministry, Adopted 2010 budget \$12,000.00, Requested 2011 budget \$12,000.00	0.0% (0)	11.1% (1)	44.4% (4)	33.3% (3)	11.1% (1)	3.44	9			
				Commen	t:(limit 300 C	haracters)	1			
	answered question									
					skipped	question	0			

26. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget lines 18200-18300, Commision on Higher Education, Adopted 2010 budget \$20,000.00, Requested 2011 budget \$14,000.00.	0.0% (0)	0.0% (0)	33.3% (3)	55.6% (5)	11.1% (1)	3.78	9			
				Commen	t:(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

27. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget lines 18400-18500, PSU Program, Adopted 2010 budget \$2000.00, Requested 2011 budget \$6,160.00.	0.0% (0)	0.0% (0)	55.6% (5)	33.3% (3)	11.1% (1)	3.56	9			
				Commen	t:(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

28. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 18600, PSU Chaplain stipend/housing, Adopted 2010 budget \$25,645.00, Requested 2011 budget \$32,000.00	0.0% (0)	0.0% (0)	44.4% (4)	44.4% (4)	11.1% (1)	3.67	9			
				Commen	t:(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

29. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 18620, PSU Chaplain Social Security/pension, Adopted 2010 budget \$11,050.00, Requested 2011 budget (blank).	0.0% (0)	11.1% (1)	55.6% (5)	33.3% (3)	0.0% (0)	3.22	9			
				Comment	::(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

30. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 16300, CSM Program, Adopted 2010 budget \$4,000.00, Requested 2011 budget \$3,200.00.	0.0% (0)	0.0% (0)	88.9% (8)	11.1% (1)	0.0% (0)	3.11	9			
				Comment	::(limit 300 C	haracters)	1			
	answered question						9			
					skipped	question	0			

31. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 16340, Care of creation, Adopted 2010 budget \$0.00, Requested 2011 budget (blank).	44.4% (4)	11.1% (1)	22.2% (2)	22.2% (2)	0.0% (0)	2.22	9			
				Comment	t:(limit 300 C	haracters)	1			
answered question							9			
					skipped	question	0			

32. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 16350, Jubilee Officer, Adopted 2010 budget \$1,000.00, Requested 2011 budget (blank).	22.2% (2)	22.2% (2)	55.6% (5)	0.0% (0)	0.0% (0)	2.33	9			
				Commen	t:(limit 300 C	haracters)	0			
					answered	question	9			
					skipped	question	0			

33. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 16400, Bishop Stevenson Fund, Adopted 2010 budget \$18,000.00, Requested 2011 budget \$16,000.00.	0.0% (0)	11.1% (1)	33.3% (3)	33.3% (3)	22.2% (2)	3.67	9			
				Commen	t:(limit 300 C	haracters)	0			
		9								
					skipped	question	0			

34. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 16500, Alleluia Appeal, Adopted 2010 budget \$19,000.00, Requested 2011 budget \$15,000.00.	0.0% (0)	0.0% (0)	33.3% (3)	66.7% (6)	0.0% (0)	3.67	9			
				Commen	t:(limit 300 C	haracters)	0			
answered question										
					skipped	question	0			

35. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line (blank), Disaster Response (ERD), Adopted 2010 budget (blank), Requested 2011 budget (blank).	44.4% (4)	22.2% (2)	11.1% (1)	11.1% (1)	11.1% (1)	2.22	9			
				Commen	t:(limit 300 C	haracters)	0			
		answered question								
					skipped	question	0			

36. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.										
	lowest	low	normal	high	highest	Rating Average	Response Count			
proposed budget line 15700, PA Council of Churches, Adopted 2010 budget \$10,000.00, Requested 2011 budget \$15,000.00.	0.0% (0)	0.0% (0)	44.4% (4)	22.2% (2)	33.3% (3)	3.89	9			
				Commen	::(limit 300 C	haracters)	1			
		answered question								
					skipped	question	0			

37. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.								
	lowest	low	normal	high	highest	Rating Average	Response Count	
proposed budget line 15850, Parish Health Commission, Adopted 2010 budget \$3,100.00, Requested 2011 budget \$4,700.00.	0.0% (0)	33.3% (3)	44.4% (4)	22.2% (2)	0.0% (0)	2.89	9	
Comment:(limit 300 Characters)								
	answered question						9	
	skipped question							

38. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.								
	lowest	low	normal	high	highest	Rating Average	Response Count	
proposed budget line 15900, Ecumenical Committee, Adopted 2010 budget \$1,000.00, Requested 2011 budget \$1,000.00.	0.0% (0)	0.0% (0)	55.6% (5)	33.3% (3)	11.1% (1)	3.56	9	
Comment:(limit 300 Characters)								
	answered question						9	
	skipped question						0	

39. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.								
	lowest	low	normal	high	highest	Rating Average	Response Count	
proposed budget line 22500, Commission on Ministry, Adopted 2010 budget \$4,000.00, Requested 2011 budget \$4,000.00.	11.1% (1)	0.0% (0)	55.6% (5)	22.2% (2)	11.1% (1)	3.22	9	
Comment:(limit 300 Characters)								
	answered question						9	
	skipped question						0	

40. Instructions: Rank each request by priority, with 1 =low and 5 = high. Consider a 3 as normal.							
	lowest	low	normal	high	highest	Rating Average	Response Count
proposed budget lines 23500-23600, Episcopal Home, Adopted 2010 budget \$25,000.00, Requested 2011 budget \$28,000.00.	0.0% (0)	0.0% (0)	11.1% (1)	44.4% (4)	44.4% (4)	4.33	9
Comment:(limit 300 Characters)							0
	answered question						9
	skipped question						0